AR 7 o® 18
1 | 14/09/01 | HEHZEE, 4 XEm | EAHF
2 |20/08/20 HHEER EAH
M10x25 M10X32~M16X50
d (236 W d(2IE) W
|
I [ e L ___ e
| S -
X, A 2
| [ Q [ Q
Ry I
| | |
|
[ |
éd
E #% w | ¢t | d |ed]| P | H BURv oL 5 EREMA v F
181025HHM | M10x25 | 25 [ 1.5 | 1 10 | 40 | 53 BE P PR P -
151052HHM | M10x32 || 105 | 43 | 57 e = T
TB1232HHM| M12x32 ' 46 | 60 10/04/01 NONE M10, M12, M16
13.5 R e z2 & Ei=—
TB1238HHM| M12x38 | 38 M12 59 | 76 =
181250HHM | M12x50 | _ | 2.8 55 |64 | 84 B AUy HILI YRS EEE
TB1650HHM | M16x50 mi6 |77 [69 | 89
Il §STD 239-109
% =X - -
zBAD-#L-va> /2




